KART
USER MANUAL



CONGRATULATIONS
ON YOUR
PURCHASE!

This user manual will help you assemble and operate your new Hoverfly

Kart. Be sure to read ALL OF THE INFORMATION in this manual before
using.

NOTE TO ALL RIDERS UNDER 18 YEARS OF AGE: It's very important that you
get parental permission before riding your Hoverfly Kart.




DON'T RIDE UNTIL YOU READ THIS:

@ ALWAYS wear a helmet when riding your Hoverfly Kart.
_é_ Always be aware of local road laws, and follow them.
@ Do not use the Hoverfly Kart under the influence of drugs or alcohol.

ﬁ Do not ride under wet conditions. The hoverboard using the kart may
slide from under your feet causing injury. Wet conditions may damage
the electronics and void the warranty.



/1\\ WARNING MESSAGE

1. Abuse - We do not cover physical damage due to negligent care and extreme
riding.

2. Whenever you use the GOTRAX Hoverfly Kart, you risk severe injury or even death
from loss of control, collisions, and falls. Use caution and ride at your own risk.

3. Do not modify the product from the manufacturers original design.

4. Keep hands and all body parts away from moving parts while operating the
hoverfly kart with a hoverboard.

5. Never exceed the 220 Ib (100 kg) maximum load rating.

6. The Hoverfly Kart should never be used by children under the age of 8.



S UNPACK

You should find each of these items in your Hoverfly Kart box:

(@ Allen Key

(2) Hex Wrench

(3) Fastener

(4) Gasket 2 pcs

(5) Spring 4pcs

(6) M10 Locknut 2 pcs
(7) M8 Locknut 4pcs

M8*15 4pcs
(9) Attachment System and Handles

Seat
(1) Wheel Frame
(12) Foot Plate Frame

Remove all packing material, then inspect each item for any
accidental damage that may have occurred during shipping.



AN ASSEMBLE YOUR

HOVERFLY KART

Follow the below step-by-step instructions to properly assemble your
HOVERFLY KART.

WARNING: Failure to properly attach, tighten, and secure all bolts,
locknuts, screws, and fasteners will increase the risk of injury.

1. ATTACH THE HANDLEBARS
Attach the two handlebars (11) to the screw rods on either side of the
Wheel Frame (11) plate using the Washers (4) and the M10 Locknuts (6).

Put one large washer (4) on each screw rod.

Put the handlebars (11) on the screw rods. Both handlebars (11)
should point towards the wheel with the arms of the handlebars
(11) extending outwards.

Put one small washer (4) on each screw rod.

Use the M10 Locknuts (6) on the screw rods and tighten until
each handlebar is firmly secured on the screw rods.



2. SECURE THE SEAT

Attach the HOVERFLY KART seat (10) to the Wheel Frame (11) plate using
the M8%15 bolts (8) and M8 Locknuts (7).

* Place the seat (10) in position and insert the bolts (8) so they go
through both the seat (10) and the Wheel Frame (11) plate.

* Use the M10 Locknuts (6) on the bolts (8) and tighten with an

Allen Key (1) and a Hex Wrench (2) until the seat (10) is firmly
secured to the Wheel Frame (11) plate.

3. ADJUST THE WHEEL FRAME
Adjust the length of the Wheel Frame (11) to fit your height.

* Secure with the Gasket (4)

* Tighten the Gasket (4) until it is firmly secured.

4. FASTEN THE HOVERFLY KART TO YOUR HOVERBOARD

Use the velcro fastener straps to attach the HOVERFLY KART to your self-
balancing scooter aka hoverboard.

* Make sure the hoverboard is facing the correct direction so that
the HOVERFLY KART wheel will be in front.



BOARDING PROCEDURES

Before using the hoverboard, you must fully charge the battery.

* Find a wide-open flat surface that is safe for go-karting.

* Sit in the GOTRAX HOVERFLY KART seat.

e Check for any loose or hanging articles of clothing that could inter-
fere with your ride.

RIDING TIPS

Powering on:

* While seated in the HOVERFLY KART, press the power button on the
back of your hoverboard to turn it on.
e Firmly hold onto the handlebars with both hands.



20

/

Power Button




Riding:

* Forward Acceleration: Gently push the handlebars slightly forward to
accelerate.

* Speed Control: The harder you push, pull, or turn the handlebars, the
faster you will go-kart.

* Slow to Stop: Gently pull the handlebars slightly back to slow to a
stop.

* Reverse: Gently pull the handlebars back to move backwards.

* To Turn Right: gently pull the right handlebar upwards and the left
handlebar downwards.

* To Turn Left: gently pull the left handlebar upwards and the right

handlebar downwards.



TROUBLESHOOTING

We frequently update our user manuals at gotrax.com, and reserve the
rights to update and change manuals online.

Please contact our customer service team if you are experiencing

problems or need more detailed information. They can be reached at
gotrax.com

WARRANTY

This hoverboard is covered by a 90-day manufacturer’s warranty that
covers defects in workmanship and material. This does not cover misuse,
neglect, abuse, accident, or water damage. For warranty claims and
details, please visit gotrax.com. Always keep your original shipping box
in case the hoverboard needs to be returned or repaired.



GOTRNAX

WWW.GOTRAX.COM

#RIDEGOTRAX



Golabs, Inc.
Gotrax.com
PO Box 40928
C.P. 40928
DENVER, CO 80204



